Wednesday Reasoning Questions

Raj and Eva work out the capacity of the
pot by filling it with water, then pouring
the water into the measuring cylinders.

@g The capacity of the pot is 3
| and 300 ml.

Raj

The capacity of the pot is 2
| and 300 ml.
Eva

Who do you agree with?
Explain why.

more than container 2 in it
because the water goes
further up the side.

[ ’— | know container 1 has

Container 1 Container 2

|s Evie correct? Explain your answer.

Use the clues to work out who has which
container,

4 | have exactly half a litre. J

Lacey
e | have 1,000 mL
Mobin
| have more than 300 ml
but less than 400 ml.
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